## RESULTS INVOLVING GAUSSIAN ERROR FUNCTION $\operatorname{erf}(|x|^{1/2})$ AND THE NEUTRIX CONVOLUTION

BRIAN FISHER, FATMA AL-SIREHY AND EMIN ÖZCAĞ<sup>1</sup>

ABSTRACT. The Gaussian error function  $\operatorname{erf}(x)$  and its associated functions  $\operatorname{erf}(x_+)$  and  $\operatorname{erf}(x_-)$  are defined. Further, the generalized Gaussian error function  $\operatorname{erf}_i(x)$  and the associated functions  $\operatorname{erf}_i(x_+)$  and  $\operatorname{erf}_i(x_-)$  are defined. Some neutrix convolutions of these functions and other functions are evaluated.

## 1. INTRODUCTION

The error function (also known as Gaussian error function)  $\operatorname{erf}(x)$  [19] is defined for  $x \in \mathbb{R}$  by

$$\operatorname{erf}(x) = \frac{2}{\sqrt{\pi}} \int_0^x e^{-u^2} du = \frac{2}{\sqrt{\pi}} \sum_{i=0}^\infty \frac{(-1)^i}{i!(2i+1)} x^{2i+1}.$$

The error function is odd, convex on  $(-\infty, 0]$ , concave on  $[0, \infty)$ , and strictly increasing on  $\mathbb{R}$ . We refer to the reader ref. [2, 3] for other properties of the error function.

The Gaussian error function plays an important role in statistics, probability theories and in problems stemming from mathematical physics, especially in analytic solutions for problems of thermo mechanics and mass flow due to diffusion. Dirschmid and Fischer extended the classical Gaussian error function  $\operatorname{erf}(x)$  to a family of infinite extended Gaussian error functions  $\operatorname{erf}_i(x)$  (for  $i \geq 1$ ) which can be easily programmed by current computational tools. The generalized Gaussian error function for  $i \in \mathbb{N}$  are defined by

$$\operatorname{erf}_i(x) = \frac{2}{\sqrt{\pi}} \int_0^x u^i e^{-u^2} \, du,$$

see [5].

It can be easily noted that

$$\begin{split} \lim_{x \to 0} \mathrm{erf}_i(x) &= 0, \qquad \lim_{x \to \infty} \mathrm{erf}_i(x) = \frac{2}{\sqrt{\pi}} \int_0^\infty u^i e^{-u^2} \, du = \frac{1}{\sqrt{\pi}} \Gamma(\frac{i+1}{2}), \\ \lim_{x \to -\infty} \mathrm{erf}_i(x) &= \frac{2}{\sqrt{\pi}} \int_0^{-\infty} u^i e^{-u^2} \, du = \frac{(-1)^{i+1}}{\sqrt{\pi}} \Gamma(\frac{i+1}{2}), \end{split}$$

<sup>1</sup>corresponding author

<sup>2010</sup> Mathematics Subject Classification. Primary 33B20, Secondary 46F10.

Key words and phrases. Error function, generalized error function, distribution, neutrix, neutrix limit, convolution, neutrix convolution.

see [13] for the calculation.

232

The locally summable functions  $\operatorname{erf}(x_+)$  and  $\operatorname{erf}(x_-)$  are defined by

$$\operatorname{erf}(x_+) = H(x)\operatorname{erf}(x), \quad \operatorname{erf}(x_-) = H(-x)\operatorname{erf}(x),$$

where H denotes Heaviside's function and we define

$$\operatorname{erf}(-x_{+}) = -\operatorname{erf}(x_{-}), \quad \operatorname{erf}(-x_{-}) = -\operatorname{erf}(x_{+}).$$

The functions  $\operatorname{erf}(|x|^{1/2})$ ,  $\operatorname{erf}(x_+^{1/2})$  and  $\operatorname{erf}(|x|^{1/2})$  are similarly defined by

$$\operatorname{erf}(|x|^{1/2}) = \frac{2}{\sqrt{\pi}} \int_0^{|x|^{1/2}} \exp(-u^2) \, du,$$
  
 
$$\operatorname{erf}(x_+^{1/2}) = H(x) \operatorname{erf}(|x|^{1/2}), \quad \operatorname{erf}(x_-^{1/2}) = H(-x) \operatorname{erf}(|x|^{1/2}).$$

Similarly, we define the locally summable functions  $\operatorname{erf}_i(x_+)$  and  $\operatorname{erf}_i(x_-)$  by

$$\operatorname{erf}_i(x) = H(x)\operatorname{erf}_i(x), \quad \operatorname{erf}_i(x_-) = H(-x)\operatorname{erf}_i(x)$$

Before proving our results on the convolution, we need the following lemma, which is easily proved by induction:

Lemma 1.

$$\operatorname{erf}_{2i}(x) = \frac{2}{\sqrt{\pi}} \int_{0}^{x} u^{2i} e^{-u^{2}} du$$
  
$$= -\sum_{j=0}^{i-1} \frac{(2i)!(i-j)!}{\sqrt{\pi} 2^{2j} i! (2i-2j)!} x^{2i-2j-1} \exp(-x^{2}) + \frac{(2i)!}{2^{2i} i!} \operatorname{erf}(x)$$
  
$$\operatorname{erf}_{2i+1}(x) = \frac{2}{\sqrt{\pi}} \int_{0}^{x} u^{2i+1} e^{-u^{2}} du$$
  
$$= -\sum_{j=0}^{i} \frac{i!}{\sqrt{\pi} (i-j)!} x^{2i-2j} \exp(-x^{2}) + \frac{i!}{\sqrt{\pi}}$$

for i = 0, 1, 2, ..., where the sum in first relation is empty when i = 0.

The classical definition of the convolution of two locally summable functions f and g is as follows:

**Definition 1.** Let f and g be functions. Then the convolution f \* g is defined by

$$(f*g)(x) = \int_{-\infty}^{\infty} f(t)g(x-t) dt = \int_{-\infty}^{\infty} f(x-t)g(t) dt$$

for all points x for which the integral exist.

It follows easily from the definition that if f \* g exists then g \* f exists and

$$f * g = g * f$$

and if (f \* g)' and f \* g' (or f' \* g) exists, then (1.1)

(1.1) (f \* g)' = f \* g' (or f' \* g).

We now define the functions  $\operatorname{erf}_{2i,+}(|x|^{1/2})$  and  $\operatorname{erf}_{2i,-}(|x|^{1/2})$  by

$$\operatorname{erf}_{2i,+}(|x|^{1/2}) = H(x)\operatorname{erf}_{2i}(|x|^{1/2}), \quad \operatorname{erf}_{2i,-}(|x|^{1/2}) = H(-x)\operatorname{erf}_{2i}(|x|^{1/2}),$$
  
for  $i = 0, 1, 2, \dots$ 

The following results were proved in [11].

$$\begin{aligned} x_{+}^{r} * \operatorname{erf}_{+}(x) &= \frac{1}{r+1} \sum_{i=0}^{r+1} \binom{r+1}{i} (-1)^{i} \operatorname{erf}_{i}(x) x_{+}^{r-i+1}, \\ x_{+}^{r} * [x \exp_{+}(-x^{2})] &= \frac{\sqrt{\pi}}{2(r+1)} \sum_{i=0}^{r+1} \binom{r+1}{i} (-1)^{-i} \operatorname{erf}_{i}(x) x_{+}^{r-i+2} + \\ &+ \frac{\sqrt{\pi}}{2(r+1)} \sum_{i=1}^{r+1} \binom{r+1}{i} (-1)^{-i-1} \operatorname{erf}_{i}(x) x_{+}^{r-i+1}, \end{aligned}$$

for  $r = 0, 1, 2, \dots$ , where  $\exp_+(-x^2) = H(x) \exp(-x^2)$ . We now prove

**Theorem 1.** The convolution  $x_+^r * \operatorname{erf}(x_+^{1/2})$  exists and

(1.2) 
$$x_{+}^{r} * \operatorname{erf}(x_{+}^{1/2}) = \frac{1}{r+1} \sum_{i=0}^{r+1} \binom{r+1}{i} (-1)^{i} \operatorname{erf}_{2i}(x_{+}^{1/2}) x_{+}^{r-i+1},$$

 $r = 0, 1, 2, \dots$ 

*Proof.* We note that if x < 0, then  $x_+^r * \operatorname{erf}(x_+^{1/2}) = 0$ . If x > 0, we have

$$\begin{aligned} x_{+}^{r} * \operatorname{erf}(x_{+}^{1/2}) &= \frac{2}{\sqrt{\pi}} \int_{0}^{x} (x-t)^{r} \operatorname{erf}(t^{1/2}) dt \\ &= \frac{2}{\sqrt{\pi}} \int_{0}^{x} (x-t)^{r} \int_{0}^{t^{1/2}} \exp(-u^{2}) du dt \\ &= \frac{2}{\sqrt{\pi}} \int_{0}^{x^{1/2}} \exp(-u^{2}) \int_{u^{2}}^{x} (x-t)^{r} dt du \\ &= \frac{2}{\sqrt{\pi}(r+1)} \sum_{i=0}^{r+1} {r+1 \choose i} (-1)^{i} x^{r-i+1} \int_{0}^{x^{1/2}} u^{2i} \exp(-u^{2}) du \\ &= \frac{1}{r+1} \sum_{i=0}^{r+1} {r+1 \choose i} (-1)^{i} \operatorname{erf}_{2i}(x^{1/2}) x^{r-i+1}, \end{aligned}$$

on using Lemma 1 Equation (1.2) follows.

Replacing x by -x in equation (1.2) gives

**Corollary 1.** The convolution  $x_{-}^{r} * \operatorname{erf}(x_{-}^{1/2})$  exists and

(1.3) 
$$x_{-}^{r} * \operatorname{erf}(x_{-}^{1/2}) = \frac{1}{r+1} \sum_{i=0}^{r+1} \binom{r+1}{i} (-1)^{i} \operatorname{erf}_{2i}(|x|^{1/2}) x_{-}^{r-i+1},$$

 $r = 0, 1, 2, \dots$ 

**Corollary 2.** The convolution  $x_+^r * [x_+^{-1/2} \exp(-|x|)]$  exists and

(1.4) 
$$x_{+}^{r} * [x_{+}^{-1/2} \exp(-|x|)] = \sqrt{\pi} \sum_{i=0}^{r} \binom{r}{i} (-1)^{i} \operatorname{erf}_{2i}(x_{+}^{1/2}) x_{+}^{r-i},$$

 $r = 0, 1, 2, \ldots$ 

*Proof.* Differentiating equation (1.2) and using equation (1.1), we get

$$\begin{aligned} x_{+}^{r} * [\operatorname{erf}(x_{+}^{1/2})]' &= \frac{1}{\sqrt{\pi}} x_{+}^{r} * [x_{+}^{-1/2} \exp(-|x|)] \\ &= [x_{+}^{r} * \operatorname{erf}_{+}(|x|^{1/2})]' \\ &= r x_{+}^{r-1} * \operatorname{erf}(x_{+}^{1/2}) \\ &= \sum_{i=0}^{r} {r \choose i} (-1)^{i} \operatorname{erf}_{2i}(|x|^{1/2}) x_{+}^{r-i} \end{aligned}$$

and equation (1.4) follows for  $r = 1, 2, \ldots$ 

In the particular case r = 0, we have

$$\frac{1}{\sqrt{\pi}}x_{+}^{0} * [x_{+}^{-1/2}\exp(-|x|)] = \delta(x) * \operatorname{erf}(x_{+}^{1/2}) = \operatorname{erf}(x_{+}^{1/2}),$$

giving

$$x_{+}^{0} * [x_{+}^{-1/2} \exp(-|x|)] = \sqrt{\pi} \operatorname{erf}(x_{+}^{1/2}).$$

This proved equation (1.4) for the case r = 0.

Replacing x by -x in equation (1.4) gives

**Corollary 3.** The convolution  $x_{-}^{r} * [x_{-}^{-1/2} \exp(-|x|)]$  exists and

$$x_{-}^{r} * [x_{-}^{-1/2} \exp(-|x|)] = \sqrt{\pi} \sum_{i=0}^{r} \binom{r}{i} (-1)^{i} \operatorname{erf}_{2i}(x_{-}^{1/2}) x_{-}^{r-i},$$

 $r = 0, 1, 2, \ldots$ 

## 2. NEUTRIX CONVOLUTION

We now let  $\mathcal{D}$  be the space of infinitely differentiable functions with compact support and let  $\mathcal{D}'$  be the space of distributions defined on  $\mathcal{D}$ .

**Definition 2.** The convolution f \* g of two distributions f and g in  $\mathcal{D}'$  is defined by the equation

$$\langle (f * g)(x), \varphi \rangle = \langle f(y), \langle g(x), \varphi(x+y) \rangle \rangle$$

for arbitrary  $\varphi$  in  $\mathcal{D}$  provided f and g satisfy either of the conditions:

- (B1) either f or g has bounded support,
- (B2) the supports of f and g are bounded on the same side,

see Gel'fand and Shilov [12] (or [14]). Note that if f and g are locally summable functions satisfying either of the above conditions and the classical convolution f \* g exists, then it is in agreement with Definition 1.

Now let f and g be two distributions on  $\mathbb{R}$  such that K = Supp(f) and K' = Supp(g) satisfying the following conditions:

- (a) for every bounded set  $B \subset \mathbb{R}$ , the set  $(K \times K') \cap B^{\Delta}$  is bounded in  $\mathbb{R}^2$ ,
- (b) for every bounded set  $B \subset \mathbb{R}$ , the set  $K \cap (B K')$  is bounded in  $\mathbb{R}$ ,
- (c) for every bounded set  $B \subset \mathbb{R}$ , the set  $(B K) \cap K'$  is bounded in  $\mathbb{R}$ ,
- (d) if  $x_n \in K, y_n \in K'$  and  $|x_n| + |y_n| \to \infty$ , then  $|x_n + y_n| \to \infty$ ,

where  $B^{\triangle} = \{(x, y) \in \mathbb{R}^2 : x + y \in B\}$ , then the convolution product f \* g of f and g exists and is defined as in Definition 2.

The condition (a)-(d) are well known see [9, 17]. Condition (d) was introduced by J. Mikusinski in [1]. If the supports of distributions f and g satisfy conditions (B1) or (B2), then they fulfill conditions (a)-(d).

In [9], two pairs of distributions S, T and f, g were given, which did not satisfy the conditions (B1) or (B2), but the convolution S \* T and f \* g existed and conditions (a)-(d) were satisfied.

The convolution product of distributions may be defined in a more general way without any restriction on the supports. The most well-known is given by Jones, see [16]. However, there still exist many pairs of distributions such that the convolution products do not exist in the sense of these definitions.

The method of neglecting appropriately defined infinite quantities was devised by Hadamard and the resulting finite value extracted from the divergent integral is usually referred to as the Hadamard finite part. Using the concepts of the neutrix and the neutrix limit due to van der Corput [4], Fisher gave the general principle for the discarding of unwanted infinite quantities from asymptotic expansions and this has been exploited in context of distributions, particularly in connection with convolution product and distributional multiplication see [6, 7, 8, 15, 18].

In order to introduce Fisher's definition of neutrix convolution product, we first of all let  $\tau$  be a function in  $\mathcal{D}$  satisfying the following properties :

- (i)  $\tau(x) = \tau(-x)$ , (ii)  $0 \le \tau(x) \le 1$ ,
- (iii)  $\tau(\overline{x}) = 1$  for  $|x| \le \frac{1}{2}$ , (iv)  $\tau(x) = 0$  for  $|x| \ge 1$ .

The function  $\tau_n$  is now defined by

$$\tau_n(x) = \begin{cases} 1, & |x| \le n, \\ \tau(n^n x - n^{n+1}), & x > n, \\ \tau(n^n x + n^{n+1}), & x < -n, \end{cases}$$

for  $n = 1, 2, \ldots$ 

**Definition 3.** Let f and g be distributions in DD' and let  $f_n = f\tau_n$  for n = 1, 2, ...Then the neutrix convolution  $f \circledast g$  is defined as the neutrix limit of the sequence  $\{f_n \ast g\}$ , provided that the limit h exists in the sense that

$$\underset{n \to \infty}{\operatorname{N-lim}} \langle f_n \ast g, \varphi \rangle = \langle h, \varphi \rangle,$$

for all  $\varphi$  in DD, where N is the neutrix, see van der Corput [4], having domain N' = $\{1, 2, \ldots, n, \ldots\}$  and range N" the real numbers, with negligible functions finite linear sums of the functions

$$n^{\lambda} \ln^{r-1} n$$
,  $\ln^{r} n$  ( $\lambda > 0, r = 1, 2, ...$ )

and all functions which converge to zero in the usual sense as n tends to infinity.

In this definition the convolution product  $f_n * g$  exists since the distribution  $f_n$  having bounded support. Note that because of the lack of symmetry in the definition of  $f \circledast g$ , the neutrix convolution is in general non-commutative.

The following two theorems were proved in [7], showing that the neutrix convolution is a generalization of the convolution.

**Theorem 2.** Let f and g be distributions in  $\mathcal{D}D'$  satisfying either condition (B1) or condition (B2) of Definition 2. Then the neutrix convolution  $f \circledast g$  exists and

$$f \circledast g = f \ast g$$

**Theorem 3.** Let f and g be distributions in DD' and suppose that  $f \circledast g$  exists, then the neutrix convolution  $f \circledast g'$  exists and

(2.1) 
$$(f \circledast g)' = f \circledast g'.$$

Note however that equation (1.1) does not necessarily hold for the neutrix convolution product and that  $(f \circledast g)'$  is not necessarily equal to  $f' \circledast g$ .

In order to prove our next results we need to extend our set of negligible functions given in Definition 3 to also include finite linear sums of the function

$$n^r \operatorname{erf}[(x+n)^{1/2})], \qquad r=1,2,\ldots$$

We now prove

**Theorem 4.** The neutrix convolution  $x^r \circledast \operatorname{erf}(x_+^{1/2})$  exists and

(2.2) 
$$x^{r} \circledast \operatorname{erf}(x_{+}^{1/2}) = \frac{1}{r+1} \sum_{i=0}^{r+1} \binom{r+1}{i} \frac{(-1)^{i}(2i)!}{2^{2i}i!} x^{r-i+1},$$

for  $r = 0, 1, 2, \ldots$ 

*Proof.* We put  $(x^r)_n = x^r \tau_n(x)$  for n = 1, 2, ... Since  $(x^r)_n$  has compact support, the classical convolution  $(x^r)_n * \operatorname{erf}(x_+^{1/2})$  exists and

$$(x^{r})_{n} * \operatorname{erf}(x_{+}^{1/2}) = \frac{2}{\sqrt{\pi}} \int_{0}^{x+n} (x-t)^{r} \operatorname{erf}(t^{1/2}) dt + \frac{2}{\sqrt{\pi}} \int_{x+n}^{x+n+n^{-n}} (x-t)^{r} \tau_{n}(x-t) \operatorname{erf}(t^{1/2}) dt$$
$$= I_{1} + I_{2}.$$

It is easily seen that

$$\lim_{n \to \infty} I_2 = 0$$

Further,

$$\begin{split} I_1 &= \frac{2}{\sqrt{\pi}} \int_0^{x+n} (x-t)^r \int_0^{t^{1/2}} \exp(-u^2) \, du \, dt \\ &= \frac{2}{\sqrt{\pi}} \int_0^{(x+n)^{1/2}} \exp(-u^2) \int_{u^2}^{x+n} (x-t)^r \, dt \, du \\ &= \frac{2}{\sqrt{\pi}(r+1)} \int_0^{(x+n)^{1/2}} (x-u^2)^{r+1} \exp(-u^2) \, du - \frac{2(-n)^{r+1}}{\sqrt{\pi}(r+1)} \int_0^{(x+n)^{1/2}} \exp(-u^2) \, du \\ &= \frac{1}{r+1} \sum_{i=0}^{r+1} \binom{r+1}{i} (-1)^i \operatorname{erf}_{2i}[(x+n)^{1/2}] x^{r-i+1} \\ &\quad - \frac{(-n)^{r+1}}{r+1} \operatorname{erf}[(x+n)^{1/2}]. \end{split}$$

It follows easily from Lemma 1 and on noting that  $\operatorname{erf}(\infty) = \frac{2}{\sqrt{\pi}} \int_0^\infty \exp(-u^2) \, du = 1$ , we have

$$\underset{n \to \infty}{\text{N-lim}} \operatorname{erf}_{2i}[(x+n)^{1/2}] = \frac{(2i)!}{2^{2i}i!},$$

and so

$$\underset{n \to \infty}{\text{N-lim}} I_1 = \frac{1}{r+1} \sum_{i=0}^{r+1} \binom{r+1}{i} \frac{(-1)^i (2i)!}{2^{2i} i!} x^{r-i+1}$$

for  $i = 0, 1, 2, \dots$  Equation (2.2) follows.

Replacing x by -x in equation (2.2), we get

**Corollary 4.** The neutrix convolution  $x^r \circledast \operatorname{erf}(x_-^{1/2})$  exists and

(2.3) 
$$x^{r} \circledast \operatorname{erf}(x_{-}^{1/2}) = -\frac{1}{r+1} \sum_{i=0}^{r+1} \binom{r+1}{i} \frac{(2i)!}{2^{2i}i!} x^{r-i+1}$$

for  $r = 0, 1, 2, \ldots$ 

**Corollary 5.** The neutrix convolution  $x^r \circledast \operatorname{erf}(|x|^{1/2})$  exists and

(2.4) 
$$x^{r} \circledast \operatorname{erf}(|x|^{1/2}) = \frac{1}{r+1} \sum_{i=0}^{r+1} \binom{r+1}{i} \frac{[(-1)^{i}-1](2i)!}{2^{2i}i!} x^{r-i+1}$$

for  $r = 0, 1, 2, \ldots$ 

*Proof.* Note that

$$x^r \circledast \operatorname{erf}(|x|^{1/2}) = x^r \circledast \operatorname{erf}(x_+^{1/2}) + x^r \circledast \operatorname{erf}(x_-^{1/2}).$$

Then equation (2.4) follows from Equations (2.2) and (2.3).

**Theorem 5.** The neutrix convolution  $x_+^r \circledast \operatorname{erf}(|x|^{1/2})$  exists and

$$x_{+}^{r} \circledast \operatorname{erf}(|x|^{1/2}) = \frac{1}{r+1} \sum_{i=0}^{r+1} {r+1 \choose i} (-1)^{i} [x_{+}^{r-i+1} - (-1)^{r} x_{-}^{r-i+1}] \operatorname{erf}_{2i}(|x|^{1/2}) - \frac{1}{r+1} \sum_{i=0}^{r+1} {r+1 \choose i} \frac{(2i)!}{2^{2i}i!} x^{r-i+1}$$

$$(2.5)$$

for  $r = 0, 1, 2, \ldots$ 

*Proof.* Using equation (2.2), we have

(2.6)  

$$\begin{aligned}
x_{+}^{r} \circledast \operatorname{erf}(|x|^{1/2}) &= x_{+}^{r} \ast \operatorname{erf}(x_{+}^{1/2}) + x_{+}^{r} \circledast \operatorname{erf}(x_{-}^{1/2}) \\
&= \frac{1}{r+1} \sum_{i=0}^{r+1} \binom{r+1}{i} (-1)^{i} x_{+}^{r-i+1} \operatorname{erf}_{2i}(|x|^{1/2}) \\
&+ x_{+}^{r} \circledast \operatorname{erf}(x_{-}^{1/2}).
\end{aligned}$$

Using equations (1.3) and (2.3), we have

$$(2.7) \quad x^{r} \circledast \operatorname{erf}(x_{-}^{1/2}) = x_{+}^{r} \circledast \operatorname{erf}(x_{-}^{1/2}) + (-1)^{r} x_{-}^{r} \ast \operatorname{erf}(x_{-}^{1/2}) \\ = x_{+}^{r} \circledast \operatorname{erf}(x_{-}^{1/2}) \\ + \frac{(-1)^{r}}{r+1} \sum_{i=0}^{r+1} {r+1 \choose i} (-1)^{i} x_{-}^{r-i+1} \operatorname{erf}_{2i}(|x|^{1/2}) \\ = -\frac{1}{r+1} \sum_{i=0}^{r+1} {r+1 \choose i} \frac{(2i)!}{2^{2i}i!} x^{r-i+1}.$$

Equation (2.5) now follows from equations (2.6) and (2.7).

Replacing x by -x, we get

**Corollary 6.** The neutrix convolution  $x_{-}^{r} \circledast \operatorname{erf}(|x|^{1/2})$  exists and

$$\begin{aligned} x_{-}^{r} \circledast \operatorname{erf}(|x|^{1/2}) &= \frac{1}{r+1} \sum_{i=0}^{r+1} \binom{r+1}{i} (-1)^{i} [x_{-}^{r-i+1} - (-1)^{r} x_{+}^{r-i+1}] \operatorname{erf}_{2i}(|x|^{1/2}) \\ &+ \frac{1}{r+1} \sum_{i=0}^{r+1} \binom{r+1}{i} (-1)^{r-i} \frac{(2i)!}{2^{2i} i!} x^{r-i+1} \end{aligned}$$

for  $r = 0, 1, 2, \ldots$ 

**Theorem 6.** The neutrix convolution  $x^r \circledast [x_+^{-1/2} \exp(-|x|)]$  exists and (2.8)  $x^r \circledast [x_+^{-1/2} \exp(-|x|)] = \frac{\sqrt{\pi}}{r+1} \sum_{i=0}^r \binom{r+1}{i} \frac{(-1)^i (r-i+1)(2i)!}{2^{2i}i!} x^{r-i},$ 

for  $r = 0, 1, 2, \ldots$ 

*Proof.* Differentiating equation (2.2) using equation (2.1), we get

$$\begin{aligned} [x^r \circledast \operatorname{erf}(x_+^{1/2})]' &= \frac{1}{\sqrt{\pi}} x^r \circledast [x_+^{-1/2} \exp(-|x|)] \\ &= \frac{1}{r+1} \sum_{i=0}^r \binom{r+1}{i} \frac{(-1)^i (r-i+1)(2i)!}{2^{2i} i!} x^{r-i}. \end{aligned}$$

and equation (2.8) follows for  $r = 0, 1, 2, \ldots$ 

Replacing x by -x in equation (2.8), we get

**Corollary 7.** The neutrix convolution  $x^r \circledast [x_-^{-1/2} \exp(-|x|)]$  exists and

(2.9) 
$$x^{r} \circledast \left[x_{-}^{-1/2} \exp(-|x|)\right] = \frac{\sqrt{\pi}}{r+1} \sum_{i=0}^{r} \binom{r+1}{i} \frac{(r-i+1)(2i)!}{2^{2i}i!} x^{r-i},$$

for  $r = 0, 1, 2, \ldots$ 

Adding equations (2.8) and (2.9) we get

**Corollary 8.** The neutrix convolution  $x^r \circledast [|x|^{-1/2} \exp(-|x|)]$  exists and

$$x^{r} \circledast [|x|^{-1/2} \exp(-|x|)] =$$
  
=  $\frac{\sqrt{\pi}}{r+1} \sum_{i=0}^{r+1} {r+1 \choose i} \frac{[1+(-1)^{i}](r-i+1)(2i)!}{2^{2i}i!} x^{r-i}$ 

238

for  $r = 0, 1, 2, \ldots$ 

Taking equation (2.9) from equation (2.8), we get

**Corollary 9.** The neutrix convolution  $x^r \circledast [\operatorname{sgn} x.|x|^{-1/2} \exp(-|x|)]$  exists and

$$\begin{split} x^r \circledast [\operatorname{sgn} x \cdot |x|^{-1/2} \exp(-|x|)] &= \\ &= \frac{\sqrt{\pi}}{r+1} \sum_{i=0}^{r+1} \binom{r+1}{i} \frac{[(-1)^i - 1](r-i+1)(2i)!}{2^{2i}i!} x^{r-i} \end{split}$$

for  $r = 0, 1, 2, \ldots$ 

**Theorem 7.** The neutrix convolution  $x_+^r \circledast [\operatorname{sgn} x.|x|^{-1/2} \exp(-|x|)]$  exists and  $r \sim [-1/2]$ 

$$\begin{aligned} x_{+}^{\prime} (*) \left[ \operatorname{sgn} x.|x|^{-1/2} \exp(-|x|) \right] &= \\ &= \frac{\sqrt{\pi}}{r+1} \sum_{i=0}^{r} \binom{r+1}{i} (-1)^{i} (r-i+1) [x_{+}^{r-i} - (-1)^{r} x_{-}^{r-i}] \operatorname{erf}_{2i} (|x|^{1/2}) \\ &+ \frac{1}{r+1} \sum_{i=0}^{r+1} \binom{r+1}{i} (-1)^{i} [x_{+}^{r+1} + (-1)^{r} x_{-}^{r+1}] \exp(-|x|) \\ (2.10) &- \frac{\sqrt{\pi}}{r+1} \sum_{i=0}^{r} \binom{r+1}{i} \frac{(r-i+1)(2i)!}{2^{2i}i!} x^{r-i} \end{aligned}$$

for  $r = 0, 1, 2, \ldots$ 

*Proof.* Differentiating equation (2.5) using equation (2.1), we get

$$\begin{split} [x_{+}^{r} \circledast \operatorname{erf}(|x|^{1/2})]' &= \frac{1}{\sqrt{\pi}} x_{+}^{r} \circledast [\operatorname{sgn} x.|x|^{-1/2} \exp(-|x|)] \\ &= \frac{1}{r+1} \sum_{i=0}^{r} \binom{r+1}{i} (-1)^{i} (r-i+1) [x_{+}^{r-i} + (-1)^{r} x_{-}^{r-i}] \operatorname{erf}_{2i}(|x|^{1/2}) \\ &+ \frac{1}{\sqrt{\pi}(r+1)} \sum_{i=0}^{r+1} \binom{r+1}{i} (-1)^{i} [x_{+}^{r-i+1} - (-1)^{r} x_{-}^{r-i+1}] x^{i} \exp(-|u|) \\ &- \frac{1}{r+1} \sum_{i=0}^{r} \binom{r+1}{i} \frac{(r-i+1)(2i)!}{2^{2i}i!} x^{r-i} \\ \end{split}$$
and equation (2.10) follows.  $\Box$ 

and equation (2.10) follows.

Replacing x by -x, we get:

**Corollary 10.** The neutrix convolution  $x_{-}^{r} \circledast [\operatorname{sgn} x . |x|^{-1/2} \exp(-|x|)]$  exists and

$$\begin{split} x_{-}^{r} \circledast \left[ \operatorname{sgn} x. |x|^{-1/2} \exp(-|x|) \right] &= \\ &= -\frac{\sqrt{\pi}}{r+1} \sum_{i=0}^{r} \binom{r+1}{i} (-1)^{i} (r-i+1) [x_{-}^{r-i} + (-1)^{r} x_{+}^{r-i}] \operatorname{erf}_{2i} (|x|^{1/2}) \\ &+ \frac{1}{r+1} \sum_{i=0}^{r+1} \binom{r+1}{i} (-1)^{i} [x_{-}^{r+1} - (-1)^{r} x_{+}^{r+1}] \exp(-|x|) \\ &- \frac{\sqrt{\pi}}{r+1} \sum_{i=0}^{r} \binom{r+1}{i} \frac{(-1)^{r-i} (r-i+1)(2i)!}{2^{2i} i!} x^{r-i} \end{split}$$

for  $r = 0, 1, 2, \ldots$ 

For further related results, see [10, 11].

## References

- [1] M.ABRAMOWITZ, I.A.STEGUN: Handbook of Mathematical Functions with Formulas, Graphs and Mathematical Tables, Dover, Newyork, 1965.
- [2] H.ALZER: A Kuczma-type functional inequality for error and complementary error functions, Aequat. Math., 89 (2015), 927-935.
- [3] H.ALZER, M.N.KWONG: A subaddivity Property of the Error Function, Proc. Amer. Math. Soc., 142(8)(2014), 2697-2704.
- [4] J.G. VAN DER CORPUT: Introduction to the neutrix calculus, J. Analyse Math., 7 (1959-60), 291-398.
- [5] H.DIRSCHMID, F.D.FISCHER: Generalized Gaussian error functions and their applications, Acta Mech., 226 (2015), 2887-2897.
- [6] B.FISHER: A noncommutative Neutrix Product of Distributions, Math. Nachr., 108 (1982), 117-Ũ127.
- B.FISHER: Neutrices and the convolution of distributions, Univ. u Novom Sadu Zb. Rad. Prirod.-Mat. Fak. Ser. Mat., 17 (1987), 119-135.
- [8] B.FISHER, B.JOLEVSKA-TUNESKA, A.TAKACI: On convolutions and neutrix convolutions involving the incomplete gamma function, Integral Transforms Spec. Funct., 15(5) (2004), 405-Ũ414.
- [9] B.FISHER, A.KAMINSKI: The neutrix convolution product of distributions  $lnx_{-}$  and  $x_{+}^{r}$ , Proceedings of the Steklov Inst. of Math., **3** (1995), 233-244.
- [10] B.FISHER, F.AL-SIREHY, M.TELCI: Convolutions involving the error function, Internat. J. Appl. Math., 13(4)(2003), 317-326.
- [11] B.FISHER, M.TELCI, F.AL-SIREHY: The error function and the neutrix convolution, Int. J. Appl. Math., 8 (2002), 295-309.
- [12] I.M.GEL'FAND, G.E.SHILOV: Generalized Functions, Vol. I, Academic Press, 1964.
- [13] W.GRÖBNER, N.HOFRETER: Integrafel II: Bestimmte Integrale, Band 2, Springer, New York, 1973.
- [14] R.HOSKINS, J.S.PINTO: Distributions Ultradistributions and Other Generalized Functions, Ellis Horward, 1994.
- [15] B.JOLEVSKA-TUNESKA, A.TAKACI, B.FISHER: On Some Neutrix Convolution Product of Distributions, Integral Trans. Spec. Funct., 14(3)(2003), 243-250.
- [16] D.S.JONES: The convolution of generalized functions, Quart. J. Math., 24 (1973), 145-163.
- [17] E.ÖZCAĞ: On the Neutrix Convolution Product of  $x_{-}^{r} \ln x_{-}$  and  $x_{+}^{-s}$ , Proc. Indian Acad. Sci. Math. Sci., **108** (1)(1998), 41-49.
- [18] E.ÖZÇAĞ, H.KANSU: A result of neutrix convolution of distributions, Indian J. Pure Appl. Math., 28(10)(1997), 1399-1411.
- [19] I.N.SNEDDON: Special Functions of Mathematical Physics and Chemistry, Oliver and Boyd, 1961.

Department of Mathematics and Computer Science Leicester University Leicester, LE1 7RH, England *E-mail address*: fbr@le.ac.uk

DEPARTMENT OF MATHEMATICSY KING ABDULAZIZ UNIVERSITY JEDDAH, SAUDI ARABIA *E-mail address*: falserehi@kau.edu.sa

DEPARTMENT OF MATHEMATICS HACETTEPE UNIVERSITY ANKARA, TURKEY *E-mail address:* ozcag1@hacettepe.edu.tr